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msofudnevd  (Random Number)

M F 19N BBIEN I IUINUNLUUAINY iy 1zd’aaaﬁuﬁmmﬂmﬂu{ujm‘lum:
wha rmci’un1:’:‘i'm:"adsz1ﬁin1mheﬁ‘mﬂdmmﬁm White 10 Schmidt (1975)
dituaerlunandis vummanenzBoadaitedsudelud

FUNCTION RAND(IX)

X = IX*16807

IF (IX.LT.0) IX = IX + 2147483647+1

RAND =IX

RAND = RAND*0.465661E-9

RETURN

END

i X sdiuh sEED wiemidudy Savedoaduinouduvaniduned
RAND wiiluthvesdanvcuiidiniiegszuing o dy 1

msofumsmnealed M p,6?) o

mandamaguiinsusnusanuin@1$33n3u8s Box Muller (1958) Tavwdamny
fuiiimausnunatlndinasg : N(0,1) wloudu 2 munsudasiiiudaasiuTanléia
WA (Generater ) Z, e Z, Ansondsgivealdl

wnasnnngle e .
z, = B c0s(6) ey
Z, = Bn() @
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fleannB’=z+z” Insuwnussinmumitassesunindivdase 2 unsdloy
oidumsusnusaenyTnnuSon sunfoniiy 2 TaslEiinsulnenndu (averse
Transformation ) eranseafaunviuiidmsusnusauons TnonuSon il

B =(-2hR)" )
dle R dunefufiimausnuvaumieue v ©,1)

NNMIMAIAIVBINIUINUIINA (Normal Distribution ) 92143135 0 Jnsun
uvambiterueszning 0 81 21 iidon unedndl B Ay o ifudravdu win 1))
tmnm«!’nmvﬁuﬁﬁm:mnmaﬂm’mg\uw vy 2 AR, uas R, nife

Z, =~ (21R,))" cos(2MR,)

Z, = (-2lR)" &n(2MR,)

#1 R1uaz R2 dudanvufiahannilafisu FONCTION RAND(G) dle W@ anvaitdl
mausnusninfanasguuda wviimaunlnsnunvguaanan Tnvefuradsu

GNy= u+ oZ

GN,= u+ oz,

Jarl&41 6N, une oN, Tnsusnussuusinddausundienindy p Mnamulalsauoh
fuc® (ON, ~M p,0?) ; #12)

Tlaunsudesit i umsahanvguidinsunualndddiunfoniiy 4 unedl
finnlsdsuniniy o’ ie  SUBROUTINE NORMAL(RMEAN,VAR,GN)
nunsBon Tl sunsudeounneded

SUBROUTINE NORMAL(RMEAN,VARE,GN)

COMMON/SEED/IX,KKIX

SD = SQRT(VARE)

PI = 3.1415926

IF (KKIX .EQ.1) GOTO 100

RONE = RAND(IX)

RTWO = RAND(IX)

ZONE = SQRT(-2*ALOG(RONE))*COS(2*PI*RTWO)

ZTWO = SQRT(-2*ALOG(RONE))*SIN(2*PI*RTWO)

GN = ZONE*SD+RMEAN

KKIX = 1

GOTO 300
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100 GN = ZTWO*SD+RMEAN
KKIX = 0

300 RETURN
END

padnnmsrsimingus Uab)

fafunammnutiy unsHadSumanenussasey wome1dael
1

flo) = n . , a<ec<b
(c-a)/b-a) ,a<c<b
F(c) =
1 , b>c
Trva dhmnadimeddmusdma (Location Parameter )

(b-a) Humsdiaeifmuanng (Scale Paramster)

firmaniuasniul sl 1anvesmsusnusafe
E(c) =(6-a)f2
Var(c) = (6-a)* 12

' ‘ . (A
maedsdiamlsquifiimausnossunumineus eienisulaanniulaed fuaoy

mandidad
@it 1 Flc) =¥rL Taefl ¥FL 6aﬁ'1tn1nimmumi1muaha ©,1)

[ 4
dut 2 meho = ((b-a)*YFL) +a

11]sun:utiauﬁﬂun1mfwﬁ"amtdu1ﬁﬂn1iumuwuwﬂﬁuma?uhq (aa,bb)

fio SUBROUTINE UNIFO(AABBEX) 1vavivnTilsunaudovucmadsil

SUBROUTINE UNIFO(AA,BB,EX)
COMMON/SEED/IX,KKIX
YFL=RAND(IX)



il LT HY0I0 DB(p,a)
mmmu«uunﬁ’mﬁmmhmm?un adsunnumuuniuhugyl

flx) = ;L-ap(-lx-pl/a) ; —00< x <

finmmndaunsa i sdsauvesmsusnusafe

E(x) = u
Vi) = 20°

maanf i unisguitinsusnusauuududinenyTwanudon ewiomaulaaundu
Tnuil funsumandiedsd
$ufl 1 cor. Borutu

'%cxp((x- y)/a) , %<0

F(x) =1

‘l— %cxp(-(x— p)/o') y x>0

il 2 F(x) - v Tnofl 1 Asduaviuuvuminmies (o,1)
i 3w x e
X = a[ln2+ln(ﬂ7L)]+y s X<0
= p-olln2+m(1-¥FL)] ;x>0
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Tisunsutesit 1§ lumsnuduavguitinausnusaunmuidosneTiluudunde
fie FUNCTION DBEX(RMEAN,VARE) 7100zi8tnumafefl

FUNCTION DBEX(RMEAN,VARE)
COMMON/SEED/IX,KK
SD =~ VARE/2,
BETA= SQRT(SD)
YFL = RAND(IX)
IF (YFL-0.5) 10,10,11
10 DBEX =(BETA%ALOG(2.)+ALOG(YFL)#RMEAN
GOTO 15 ‘
11 YFL = ALOG(2.)*ALOG(1.-YFL)
DBEX = -1.*BETA*YFL+RMEAN
1S RETURN
END

nsehnusawynuioousiuse  LV( 4, 0?)

fofisunnununuiy uonelgdedl

2
;’%27&: —-O%ﬁ)—] 3x>0~0< y<w,0>0

- flemandunsn il sdaueinisunusifie

E(x) 4 eynzlz
x) - ezpn?/z(ee’ _ l)

maafafanlgu ¥imauvnunanuudenve fuen eromauassndiuTneiliy
asunaevdiaded ) |

#d 1 chedanligu oN Winaunmedunnninddenundeaiiy pouay
anutlsdsumitue?
| Fuf 2 M 2= expON)
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Thunsudeoftiflumanhanvgy ox Wmausnusauvuienus fueadsomad

@ofy unzo® fie SUBROUTINE LN(RMEAN,VARE,GX) nwosidonlysunsudos
usmadedl

100

SUBROUTINE LN(RMEAN,VARE,GX)
COMMON/SEED/IX,KKIX

SD = SQRT(VARE)

PI =3.1415926

IF (KKIX EQ.1) GOTO 100

RONE = RAND(IX)

RTWO = RAND(IX)

ZONE = SQRT(-2*ALOG(RONE))*COS(2*PI*RTWO)
ZTWO = SQRT(-2*ALOG(RONE))*SIN(2*PI*RTWO)
GN = ZONE*SD+RMEAN °

KKIX = 1

GOTO 300

GN = ZTWO*SD+RMEAN

KKIX = 0

GX=EXP(GN)

GLN=ALOG(GX)

RETURN

END

anafimaeniwunyliyad ( Welbull Distribution )

fefFunaumnin uasilafsunisusnusaesey uanaldaeid
fx) - apx*exp(~(x/ B)*) ;x>0
1-exp(-(x/ )*) ;x>0

F(x) =
0 : ‘N"l



fiamandunsniulsdsauvsamsunusefie

B - Lr{ya)
m - (22

mandadaulsguitinmausnssauuylayed efemaulassndulnedumeums
ahaded

$fl 1 F(x) = ¥ Taed ¥RL fedanvguuuymineniesa (0,1)

#f 2w x = B(-Ina - yr)) Ve |

T:Jwn:miou#‘lﬂummfwi’mﬁtiu‘lﬁﬁmmanuuuw'hunﬂd’wm111?:910{
B,z Ao SUBROUTINE' WEIBUL(WLAM,WGAM.TWEI) SsllnonciBvadail

SUBROUTINE WEIBUL(ALPHA,BETA,TWEI)
COMMON/SEED/IX,KKTX

10 YFL = RAND(IX)
IF ((YFL .EQ.1.0) .OR. (YFL .EQ.0.0)) GOTO 10
TWEI = BETA%(-ALOG(1.0-YFL))**(1.0/ALPHA)
RETURN |
END
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MNHUIN ¢

Ctoem MAIN PROGRAM

Co—me

Cooe TYPB 1 RIGRT CENSORED VARIABLE

e

BSTIMATING PARAMETERS IN MULTIPLE LINEAR RBGRESSION WITH

DIMENSION X(100,5),¥(100),YI(100),B1(100),YCAL(100),
*  YH1(100),YE2(100),YHS(100),YE4(100),

®  NDELTA(100),YTC(4),BETA(2),

¢ BH1(5)BHZ(S),BH3(S),BH4(S)

¢ BRAPB1(5),BRAPB2(5),BMBAN1(5),BMBANZ(S)

¢ BRAPES3(S),BRAPBA(S),BMBANS(S),BMEAN4(S)
COMMON/SEBD/IX KEIX

®  /INTT/NMNL)NCOMNCEN,TC NV

¢ DMYXY

‘¢ /DIMYINDELTA

DATA ALPHA,BBTA/2.0,3.5,3.5/
DATA XA, XB,XMUR XSIG2BALPHA EBETA/2.,2.,10.,12.,1.0,5.0/
DATA EMBEAN,VARE/.,100.0/

DATA ELN,VLN/1.,1.1025/

DATA YTC/60.,55.,50.,45./

DATA AMBAN3,AMEAN4, ARAPES ARAPRA/0.,0.,0.,0./

NM - 20

PERC =10

T ~ 50,

NL = 1000

Nv =2

NCEN = NM*PERC/100
-NOOM  =NM-NCEN
NCPERC = PBERC/10
X = 65479
EKIX =0

NV2 =NV

NM2 =NM

NU =0

NC -0

INDEX1 =}

INDEX2 =1

INDEX3 =1

100
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DO 19 J=3 NM

CALL WEIBUL(XA,XB,X1GEN)

CALL NORMAL(XMUB,XSIG2X2X3KN)
X0,1) = X1GEN

X(,2) = X20EN

YCALG)= ALPHA+ RETA(1)*X1GEN+BBTA(2)*X2GEN
IF ( YCAL(Y) .GB. TC ) NXelNX+1

CONTINUB

DO 99 LOOP=1 NL
NIL=0

1991 =0

10

Q

DO 10 IT =1 NM
YQT)=~0.

IL =0
NC=0

NU=0

NT=0

I =141

SUM=0.

L =0

CALL NORMAL(EMBAN,VARERGEN)
CALL LN(ELN,VLN,BGEN1)

BGEN = ALOG(BGEN1)

BGEN = DBEX(EMEAN,VARE)

Y- YCAL(I)+BGEN.

IL =IL+1

IF ((NC LT. NCBEN) .AND. (Y1(I) .GT. TC)) THEN
NC =NC+t
NT =NCHNU
YNT) = TC
RI(NT) = EGEN
NDELTA(NT)=0
BLSE

101
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IF ((NU LT. NCOM) .AND. (YI(1) .LB. TC)) THEN
NU =NUH
NT =NO#U
YONT) =Yid)
EI(NT) = BGEN
NDELTA(NT) =1
ELSE
GOTO 30
ENDI¥
IL=0
ENDIF
IF ((NC .BQ. NCEN) . AND. (NU .EQ. NCOM)) GOTO 70
GOTO 1

STOP GENERATING VALUES AND START TO CALCULATE FOUR METHODS

CALL BI(BH1,AH1,8H1,YH1,LOOP INDEX1)

IF (INDEX1 .BQ. 0) GOTO 199

CALL CM(BH2,AH2,8H2 YH2 LOOP,INDEX2)

IF (INDEX2 .BQ. 0) GOTO 199

CALL MLE(BHS3,AH3,SH3,YH3,BE4,AH4,8H4,YR4,LOOP JNDEX3)
IF (INDEX3 .BQ. 0) GOTO 199

CALL MSB(NC,NU NT,YH1 RMSEC1 RMSBU1,RMSET1)

CALL MEBANV(LOOP,RMSEC1,RMC21,VRMC21 RMC11,VRMC11,CVC1)
CALL MBANV(LOOP RMSBU 1, RMU21,VRMU 21, RMU11,VEMU11,CVU1)
CALL MBANV(LOOP RMSET1 RMT21,VRMT21 J04T11,VRMT11,CVT1)

CALL MSB(NC,NU NT,YA2RMSEC2,RMEEU2KMSET2)

CALL MEANV(LOOP,RMSEC2 RMC22,VRMC22,RMC12,VRMC12,CVC2)
CALL MEANV(LOOP,RMSEU2,RMU22,VRMU22 RMU12,VRMU12,CVU2)
CALL MBANV(LOOP,RMSET2,RMT22,VRMT22,RMT12,VRMT12,CVT2)

CALL MSE(NC,NU,NT,YH3,RMSBC3 RMSEU3 RMSET3)

CALL MBANV(LOOP,ROMSEC3, RMC23,VRMC23 RMC13,VRMC13,CVCS)

CALL MBANV(LOOP RMSBU3,RMU23,VRMUZ3 RMU13,VRMU13,CVU3)

CALL MEANV(LOOP RMSET3,XMT23,VRMT23, RMT13,VRMT13,CVTS)
. o

CALL MSE(NC)NU NT,YE4RMSEC4RMSEU4,RMSET4)

CALL MBANV(LOOP,RMSECARMC24, VRMC24 RMC14,VRMC14,CVC4)

CALL MBANV(LOOP RMSBEU4,RMU24,VRMU24,BMU14,VRMU14,CVU4)

CALL MBANV(LOOP RMSBT4RMT24,VRMT24RMT14,VRMT14,CVT4)

102
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C *—  BIASEDOF PARAMBTERS ————=*
DO 77 IB=1 NV
BRAPE3(IB) ~ERAPES(B}*ABS(BE3(B)-BBTA(B)VBETAUR)
BRAPE4(IB) =BRAPEA(JB)+ABS(BEA(B)-BETA(B)VBETA(IB)
BMBANS(B) ~BMEANSJBHEHI(B)
BMEAN4(IB) =BMEAN4(IB)+BEA(B)

77 CONTINUR '
ARAPRS =ARAPE3+ABS(AH3-ALFHAYALPHA
ARAPB4 =ARAPE4+ABS(AHA-ALPHAVALPHA
AMBAN3 =AMBAN3+AH3
AMBAN4  =~AMBAN4+ARA

99 CONTINUB

C

999 LOOP=LOOP-1
DO 78 IB={ NV
BRAPES(IB)-BRAPES(IBV(LOGP)
BRAPBA(IB)=BRAPE4(IBY/(LOCP)
BMEAN3(IB)=BMBANS(IBM(LOOP)
BMBANA(IB)=BMBANA{IB)V(LOOP)

78 CONTINUB
ARAPES =ARAPB3/(LOOP)
ARAPE4 =ARAPEAALOOP)
AMEAN3 =AMBAN3/(LOCP)
AMBAN4 =AMEAN4/(LOOP)

C—- OUTPUT
WRITE(6,150)

150 mnu.«r(tx,m,zt,w.sx.ﬁ.mum—cmw,sxm-w,sx.mmw.sx.
*CV CEN UNCEN TOTALY)
WRITE(6,200) |
wmm(c,m)uumm,nucumz:m,cvc:,cvmmn
'WRITE(6,182) NM,PERC, TC,RMC22 RMU 21 RMT22,CVC2,CVU2,CVT2
WRITE(6,183) NMPERC, TCRMC24,RMU21,RMT24,CVC4,CVU4,CVT3
WRITE(6,184) NM,PERC, TC,RMC23, RMU21,RMT23,CVCA,CVUSCVT4

_ WRITE(6,201) . :

WRITB(6,%) * RAFB MBAN'
WRITB(6,186) ARAPE1 BRAPE1(1),BRAPB1(2), AMEAN 1, RMBAN1(1),BMBAN1(2)
WRITE(6,187) ARAPB2,BRAPR2(1),BRAPB2(2), AMEAN2,BMBAN2(1) BMEAN2(2)
WRITB(6,188) ARAPB4,BRAPBA(1),BRAPEA(2), AMBAN4,BMEAN4(1),BMEAN4(2)
WRITB(6,189) ARAPES BRAPES(1),BRAPE3(2), AMEAN3 BMEANS(1),BMEAN3(2)
WRITE(6,200)

180 FORMAT(ZX,BJ *,1XI3,1X,F4.0,1X,P4.0,1X,F9.4,1X,F10.4,1X F10.4,
*,1X,F1.41XF74,1X¥7.4)
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181 PORMAT(ZX,'BJ * ,1X,J3,1X F4.0,1X F4.0,1X F9.4,1X F10.4,1X F10.4,
SIXFIAIXFIALXFI4)

182 PORMAT(ZX,CM *,1XJ3,1X.F40,1X F4.0,1X,F94,1X F10.41X,F10.4,
SAXFIALXFIALXFIA)

183 FORMAT(IX,OLS" ,1XJ3,1X,FA0,1X,FA.0,1X,F9.4,1X,F10.4,1X,F10.4,
SIXFIAIXF14,1X F74) :

184 FORMAT(2X,MLE' ,1X,I8,1X,F4.0,1X 74.0,1X,F9 41X F10.4,1X,F10.4,
SIXFIAIXF74,1X.F7.4)

136 FORMAT(ZX,BJ ' 16X F7.4,1X.P7.4,1X.F7.4,5X F10.4,2X F10.4,2X F10.4)

187 PORMAT(ZX,CM * 16X F74,1X F7.4,1X F7.4,5X F104,ZX F10.4,20F10.4)

188 FORMAT(ZX,'0LS" 16X ,F7.4,1XF74,1X,F74,5X F10.4,2X F10.4,2X,F10.4)

189 FORMAT(ZX,'MLE" , 16X F7.4,1X,F7 41X F7.4,5X F10.4,2X F10.4,7X F10.4)

9  WRITB(6,197) ALPHABETA(1),BETA(2)
197 FORMAT(SX,'ALPHA =/.F6.2,ZX, EBTA1 =,¥6.2,2X, BETA2=F6.2)
WRITB(6,198) LOOP,VARB,IX
198 PORMAT(SX, END LOOP= J4, 2%, ERROR VAR. =F6.1,2X, 8EED =/18)
200 FORMAT(110(-)
201 PORMAT(15X,60('-))
sTOP
END

C
C sesesst  STOP MAINPROGRAMME  $edeee
C

SUBROUTINE BJ(BETA,ALPHA SIGMA,YH,LOOP,INDEX)
DIMENSION X(100,5),Y(100),NDELTA(100),YSTAR(100),Y1(100),
¢ XU(100,5),YU(100),YH(100) IDE(100),
. YCMEW(100), YUMEW(100),5U(100),8C(100),BU(100),8C(100),
b ICRANK(100),IRC(100),IRU(100), VK(200),WIK(100),8(100),
*  BK(3,5),AK(3),SK(3),BM(5),BBTA(S)
DOURLB PRECISION YH1,8C,8U,SUM,VK
COMMON/SEED/IX XKIX
¢ /INTT/NMNL)NCOMNCEN,TCNV
¢ /DODMUXY
¢ /DIMYYINDELTA
c
C  ESTIMATE INITIAL PARAMBTER
c
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10

12

Q

IF (NDELTAQK) .BQ. 0) GOTO 5
NU=NU+1

DOSI=INV
XUQNU, )= X0OK,1)

NM2=NU
CALL L8(XU,YU,NM2,BM,ALFA,S)
OLSA =ALFA '
OLSB1=BM(1)

OLSB2=B1M(2)

OLSS =8

CALL TRANP(BM,ALFAS BK AK SK)

CALCULATE EI AT ALPHA =0 FOR ALY OBSERVATIONS

START ITERLATION

K=K+
KK=K-1

DO 12JK = | NM

YH1=0.

DO 10J =1 NV

YH] = YHI+BM(J)*X(K,J)
CONTINUB

BUK)= ABS(YUK)-YH1)
CONTINUB

FIND UNCENSORED AND CENSORED

NU=0.
NC=0

DO 14 1=1,NM

IF (NDELTA(D) .EQ. 1) THEN
NU =NU+
BUMNU»E(1)
IRUNU)

BLSB

NC=NC#1

BO(NC) =B(T)
IRCORC)=(

105



14 CONTINUE

C
(o]
C

Q Q a o a aa

Q O

15
16

o]

18

FIND PL BSITMATOR BASED ON UNCENSORED OBSERVATIONS

CALL SORT2(EUNU,IRU)
CALL SORT2(BC,NC,IRC)
IF(BC(NC) .GT. BU(NU)) THEN
NU =NU+1

BUNU)=BC{NC)
IRUNU)=RCNC)

NO=NC-1

BNDIF

CALL PL(BU,BC)NUNC,8U)
CALL PL(BCBUXNC,NU,SC)

WRITB(6*)' BU SU BC 5C

DO 16 I~1NM

ICRANKE(I)=0

IF (NDELTAQI) BQ. 1) GOTO 16
DO 15 J=1,NC

IF (B(X) .BQ. BC(Y)) ICRANK (1))
CONTINUB

CONTINUB

FIND BETA*X=YUMBW ---UNCENSORED OBSERVATION

DO 19 I=1 NU

SUM=0.

YUMEW(I)=0,

DO 18 II=1 NV
BUM=SUM+BM(II)*X(IRU(1),I)
CONTINUB

YUMBW( )= SUM

CONTINUR

CALL MASS(SUNU,VK)

" C103CONTINUE

DO 40 1=1NM

IF (NDELTA(Y) .EQ. 1) THEN
YSTAR()=Y()

ELSE
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BUM=0.

YCMEW()=0,

DO 0L = 1NV
BSUM=SUM+BM(IY*X(117)
CONTINUB

YCMEW(I)=SUM

SUM=0,

DO 35 U= NU

IF (SCUCRANK(I)) .GT. 0.) THEN
WIK(IU)=VKGUVSCUCRANK())
ELSB

WIKIU)»Q.

ENDIF

SUM=SUM+WIK(IU)Y YARU(U))- YUMBWQU))

CONTINUB
YSTARQ)=YCMEW(MEUM .
ENDIF

CONTINUR

o

DO 4217 =1,NM

DO 41 Lij=1 NV

XUQ,LI=X A7)

41 CONTINUB

Q

CONTINUR

NM2=NM

CALL LS(XU,YSTARNM2,BM,ALFA,S)
#

SOSIGMA *¢ RI%** NONPARA **

¢

SUM=-0.

DO 45 [1=1NU

SUM = SUM+BU(I1)

45 CONTINUB
BUBAR= SUM/NU

47

C
C

C46 PORMAT(ZX,I3,3X,F12.6,3X,F126,5X,F12.6,3X,F12.6,2X F10.6)

SUM =0.

DO 47 IV={ NU

SUM = BUM-HEU(IV)-BUBAR)*$2
CONTINUE

B! = SUM/(NU-NV-1)

CALL TRANP(BM,ALFA.SBJ,BK,AK SK)
#

WRITB(6,46) K,AK(3),BK(3,1),BK(3,2),8K(3),8
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IF (X .GE. 3) THEN
IF (X .GT. KNO) GOTO 59
k=2
CALL DIFP(BK,AK SX XX IND)
IF (IND BQ. 0) GOTO 50
INDEX=1
GOTO 60

50 KK=i
CALL DIFP(BK,AK SK XK IND)
IF (IND .BQ. 0) GOTO 20
INDEX=1

c“ ]

59 INDEX=0
IF (INDEX .BQ. 0) GOTO 191
C e PARAMETER ¢
60 ALPHA = (AK(SHAK(KK))V2.
SIGMA = (SK(3HSK(KK))2.
DO 65 I2=1 NV
BETA(I12)=~(BK(3,]2+BK(KK 12))/2.
65 CONTINUE
C  WRITE(6,92) LOOP,ALPHA,BETA(1),BETA(2),SIGMA
C92 FORMAT(3XJ4,ZX,F12.4,3X,F12.4,3X F12.4,3X F12.4)
C o FIND Y ESTIMATED
DO 71 I=1NM
SUM=0.
DO 70 J=1 NV
SUM = SUM+BBTAQ)*X(1))
70 CONTINUB
YH()=ALPHA+SUM
71 CONTINUB
191 RETURN
END




Cc

Q

sooss SUBROUTINE CM sevee

SUBROUTINE CM(BET A, ALPRA,SIGMA,YH,LOGP, INDEX)
DIMENSION BBTA(S),BM(5),BK(3,5),AK(3),SK(3),
*  YH(100),80(100),
¢ XU(100,5),YU(100)NDBL(100),YSTAR(100),
L X(100,3),Y(100),Y1(100),NDELTA(100),IDEL(100)
COMMON/INTT/NMNLNCOM NCEN,TC;NV
¢ /DDMIXY
* /DIMYYINDELTA
-1
N -0
SUM1 =0
SUMZ =0
NU =0
NC =0
KNO =50
#%__. UNCENSORED DATA —**
DO § I=1,NM
IF (NDELTA(I).BQ. 0 ) GOTO §
NU=NU+1
DO 3 J=1 NV
XUNUJ=X(1,7)
CONTINUE
YUNU=YQ)
IDEL{NU)=NDELTA(I)
CONTINUE
NM>NU

CALL L8(XU,YU,NM2,BM,ALFA.S)
CALL TRANP(BM,ALFA 8,BK, AK SK)
DO 1 I=1,NM

DO 2)=1 NV

XUQI»X3)

2 COONTINUB
1 COONTINUB

c

20 K =K+

C

KK ~K-1
DO401=1,NM

SUM = 0.

IF (NDELTA(T) .BQ. 0) THEN
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15

140

DO 15 3= 1NV

BUM = SUM + X(LISY*BM(3)
CONTINUE

Y2 = ALPA+SUM

IF (Y218 TC) THEN

NM2-NM

CALL LS(XU,YSTAR,NM2BM,ALFA,S)
CALL TRANP(BM,ALFAS,BK AK SK)
IF (K .GB. 3) THEN

IF (K .GT. KNO) GOTO 59

. KKk=2

50

(o}
5

C
60

CALL DIFF(BK,AK 8K KK IND)
IF (IND BQ. 0) GOTO 50
INDEX=1

GOTO 60

KK~

CALL DIFP(BK,AK SK XK IND)
IF (IND .EQ. 0) GOTO 20
INDEX={

ENDIF

P, -

INDEX=0
IF (INDEX .EQ. 0) GOTO 191 _
- PARAMETER e —ne 8
ALPHA = (AR{3)}+AK(KK))/2
SIGMA = (SK(SHEK(KK)V2
DO 65 I2=4,NV
BETA(I2)=(BK(3 J2+BK (KK J2)V2
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65 CONTINUB

c

'WRITE(6,92) LOOP ALPHABETA(1),BETA(2),SIGMA

C92 FORMATUX, LAMA,ZX F124,3X,F124,3X F12.4,5X F12.4)

c

% FINDY ESTIMATED -———%®
DO 71 I~ NM

SUM=0,

DO 70 J=1 NV

SUM = SUM+BETAUY*X(L))

70 CONTINUB

YH()=ALPHA+SUM

71 CONTINUB
191 RETURN

c

c

BND

SUBROUTINE MLB(BETA,ALPHA,SIGMA,YH1,BLS,ALS,SL8, YH2,LOOP INDEX)
DIMENSION BBTA(S)BM(5),8K(3,5),AK(3),SK(3),
¢ Z(100),FZ(100),FXZ(100),H2(100),W(100),AM(100),
*  X(100,5),Y(100),YI(100)NDELTA(100),BLS(5),
¢ IDEL(100),XU(100,5),YU(100), YST AR(100), YH1(100), YE2(100)
DOUBLE PRECISION ZA
COMMON/INTT/NM,NL NCOM,NCEN,TC,NV
¢ /ODMIXY
¢  /DIM2ZYINDELTA
K =1
INDEX= 1
SUM1 =0.
SUM2=0.
NU =0
NC =0
KNO =50
o ALL DATA —®¢
DO 5 I=1 NM
DO 3 J=1 NV

. XUAI=X(7)

CONTINUB
YSTAR(I)-Y(I)

CONTINUE

NM2-NM
. oy

CALL LS(XU,YSTAR,NM2,BM,ALFA,S)
CALL TRANP(BM,ALFA 8,BK,AK SK)
ALS =ALFA

BLS(1) = BM(1)
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BLS(2) = BM(2)
a8 -8
c

20K =K+
C KK =Kk-
BUM =0.
SUM1 =0,
SUM2=0.
c
DO 8 I1=1 NM
IF (NDELTA(I1) .BQ. 0) GOTO §
SUM=0.
DO 712=1 NV
SUM=SUM+BM(12)*X{11,12)
7 CONTINUB
AM(I1)=ALPA+SUM
SUM=SUM1+(Y(I1)-AM(11))**2
8 CONTINUB

DO401=1NM
IF (NDRLTA(T) .BQ. 0) THEN
SUM=0.
DO 151 = I NV
SUM=SUM+BM(I)*X(1,1)
15 CONTINUB
AM(I) = ALFA4+8UM
Z(1) =(Y()-AMQ)VEQRT(SE(3))
C —————— FIND F(2)
IF (Z(1) .GB. 0.) THEN
IF (Z(1) .GB. 4.) THEN
FZ(1)=0.
FXza)y-1.
ELSH
FZ(1) = BXP(-Z(1)*Z()/2./2.506628275
a =z
c CALL PM(Z1,PXZ1)
PXZ{ =CDFN(ZZ)
FXZ(1)~ PXZ1
ENDIF
ELSB
IF (Z(1).LB.-4.) THEN
FZ() = 0.
FXZ(I) = 0.
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FZ) = BX-ZQY*Z{)/2. /2506628275
a =2n

—————— FINDHZ(l) —————
IF ((PZ(1) BQ. 0.) .OR. (1.-FXZ(I) EQ. 0.)) THEN
HZ(2)=0.
W) =AM{)
ELSB
BZ()=(FZAV1.-FXZ()))
W) =AMIHSQRT(SK(3))*HZ(1I)
ENDIF :
————— BSTIMATB CENSORED DATA ————
YSTAR()=W(T)
SUM2 = SUM2 +{(1.+Z(1*BZ(1))
ENDIF
CONTINUE
NM2=NM

SIGMA SQARB(K+1) AND BETA(X+1)
CALL L8(XU,YSTARNM2 BM, ALFA 8)
SUM2=8UM2*8K(3)

. S=(SUMI+SUM2)YNM

CALL TRANP(BM,ALFA,8,BK,AK SK)

IF (X .GB. 3) THEN
IF (K .GT. KNO) GOTO 59

KK =2

CALL DIFP(BK,AK,SK XX IND)
IF (IND .EQ. 0) GOTO 50
INDEX =1
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IF (IND .5Q. 0) GOTO 20

INDEX=0

% PARAMETER ————®
ALPHA = (AK(S}+AK(KK)V2.

SIGMA = (SK(SHER(KK))2

DO 65 12=1 NV

BETAQ2)~(BK(3 J2+BK(XK J2))/2.
CONTINUB ‘

IF (ALPHA GB.30.0) INDEX =0

IF ((BETA(1) .LB. 0.) .OR. (BEBTA(1) .GB. 7.0 )) INDEX =0
IP ((BBTA(2) LE. 0.) .OR. (BETA(2) .GB. 7.0 )) INDEX =0
IF (INDEX .BQ. 0) GOTO 191

. FIND Y BSTDMATED ———*
DO 71 I=1 NM

SUM=0.

SUML~0.

DO 70 J=1 NV

SUM = SUM+BRTAQ)*X(L3)
SUML=SUMLABLSQ)*X(1,])

CONTINUB

YH1(I)= ALPHA+SUM

YR2(I)= ALS+SUML

1 CONTINUE
191 RBTURN

END

SUBROUTINE LS(XNEW,YNEW,NMNEW BETA ALPA SIGMA)
DIMENSION XNEW(100,5),YNEW(100),YH(100),
¢ . SXIXI(S,5),SUMXIY(S),SUMXI(S),
¢ XTY(5);BBTA(S)
COMMON/INTT/NMNL NCOMNCEN,TC,NV
DOUBLE PRECISION XTXM(5,5),XINV(5,5),SUM2,SUM1,SUMY
NVNEW=NV
DO 961 = INVNEW
DO 95 J = | NVNEW
SUM = 0.
DO 90 K=1 NMNEW
SUM = SUM +XNEW(K I)*XNEW(K,T)

90 CONTINUB
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110

115

121
122

125

128

131

(o]

EXIX3(L)) = SUM
CONTINUB
CONTINUB

DO 115 1 =1 NVNEW

SUM1 =0.

SUM2 =0,

DO 110 K={ NMNEW

SUM1 = SUM1+XNEW(K Y)

SUM2 = SUM2+XNEW(K ])* YNEW(X)
CONTINUB

SUMXI(T) = SUM1

SUMXIY(I)= SUM2

CONTINUE

SUMY =0.

DO 120 K = | NMNEW
SUMY = SUMY +YNBW(K)
CONTINUB

DO 1221 = | NVNEW

DO 121 J = INVNEW

XTXM(L))= SXIXI(J)-(SUMXI(T)*SUMXI( )NMNEW
CONTINUB

CONTINUB

DO 125 J = 1,NVNEW

XTY()) = SUMXIYU)HSUMXIQ)*SUMYVYNMNEW
CONTINUB

CALL INVXTXM XINV NVNEW)
DO 128 1 =1 NVNEW

SUM = 0.

DO 126 = I NVNEW

SUM = SUM+XINV(I}}*XTY(J)
CONTINUB

BETA(I)=SUM

CONTINUB

SUMXBA = 0.

DO 131 ] =1 NVNEBW

SUMXBA = SUMXBA +BRTA(I)%(SUMXI(I)/NMNEW)
CONTINUE

ALFA =SUMY/NMNEW -SUMXBA
00esees SIGMA SSeteete )

I15
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. SUM2=0.

DO 1401 = L,NMNEW

SUM1=0.

YH()=0,

DO 135 K = 1, NVNEW

SUM1 = SUMS+BETAKPXNEW (LX)
135 CONTINUE

YH(I)= ALFA+SUM1

SUM2 = SUM2HYNEW(1)-YEQ)Y**2
140 CONTINUE

SIGMA = SUM2/(NMNEW-NVNEW-1)
C WRITE(5*) ' SIGMA L8=SIGMA

NN

END

‘/f

C .
C % FUNCTION FIND VALUB OF STANDARD NORMAL ¢
C

FUNCTION CDFN(ZO)

DOUBLE PRECISION ZO

TLZO = (1./2.5066282746)°BXP(-1.%((ZO**2)/2.))

TLWW = 1.0/(1.0+0.33267¢ABS(Z0))

TLP = 1.0-TLZO*%(0.4361836*TLWW-0.1201676%(TLWW*%2)
¢ H0.937298%TLWW**3))

1F (ZO.GB.0.0) THEN

CDFN =TLP

ELSB

CDFN =1,0- TLP

ENDIF

RETURN

END

FUNCTION DEEX(RMEAN,VARRE)
COMMON/SEED/IX XK
8D =VARB/2
BBTA=8QRT(SD)
YFL = RAND(IX)
IF (YFL-0.5) 10,10,11

10 DBEX ~BETA%(ALOG(2.}+ALOG(YFL))
QOTO 15

11 YFL = ALOG(2.+ALOG{1.-YFL)
DBEX =1.*BETA*YFL

15 RETURN
END
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\

30
20

SUBBOUTINE DIFP(BK,AK,SK. KK IND)
DIMENSION BE(3,5),AK(3),8K(3)IND1(5)

COMMON/INTT/NMNLNCOMNCEN,TCNV
Z =005

DO 10I=1 NV

DIFB=ABS(BK(3,))-BK(XK J))

IF (DIFB LB. 2 ) THEN

IND1(1)=1

DO 20 J=) NV

IND2=IND2*IND1(J)

CONTINUE

DIF A=ABS(AK(3)-AK(KK))
'DIFS=~ABS(SK(3)-SK(KK))

IF (IND2 .BQ. 1 ) .AND. (DIFA LB. Z)
® _AND. (DIFS .LE. Z)) THEN

IND~1

SUBROUTINB INV2(XTWX,0XTWX,N)
RBAL IXTWX

DOUBLE PRECISION XTWX(SJ),OXTWX(S,S),A(S,S)

DO 5 1=1N

DO 5 J=1 N
ALN=~XTWXQ,))
CONTINUB
DO 10 L=1N
A(L.L)~1.0DV/A(LL)
DO 20 1=1,N
IF (-L) 30,20,30
A(LL)=1.0D0®A(LLY*A(L,L)
CONTINUB
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DO 40 1= N

DO 40 J=4 N

IF (0-L)*0-L)) 50,40,50
50 AQS=AQS)-AQLY*A(LJ)
40 CONTINUE

DO 103=1 N

IF (-L) 60,£0,60 )
60  A(LJ»=1.0DO®A(LJ)*A(LL)
10 CONTINUB

DO 70 J=1,N
~ DO7I=IN
C OXTWX(1L))=1.*SNGL({A(}))

OXTWX(1))=1.0°A(17)
70 CONTINUE

RETURN

END

SUBROUTINB MASS(SNM2V)
COMMON/INTT/NM;NL,NCOMNCEN,ICNV
DIMENSION 8(100),V(100),F(100)
DOUELE PRECISION 8,V,F
DO 101=1NM2
IF(1 .BQ. 1) THEN
V{=1.-8(1)
BLSE
It
F{)=1.-8(1)
F(I)=1.-8(11)
- V(D=R(Q)-FOT)

ENDIF

10 CONTINUEB
RETURN
END

SUBROUTINE MSB(NC)NUNT,YHRMSBC,RMSEU RMSET)
DIMENSION YI(100),YH(100),NDELTA(100)
COMMON/INTT/NM,NLNCOM,NCEN,TCNV

¢ /DIM2ZYINDELTA
8SBC =0.
SSBU =0,
8SBT =0
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DO 10 I=1 NM
8SEB = (YEQ)-YIQ))**2
C WRITB(6,®) YI(),YH()SSENDELTAQ)
IF (NDELTA(I) .BQ. 0 ) THEN
SABC = S8SBCAHESH
ELSB
SSBU = SSRU-ESRE
BNDIF
S8BT = SSET+8SB
10 CONTINUB
RMSEC = SQRT(3SEC/NC)
RMSBU = SQRT(SSEU/NU)
RMSET = SQRT(S8SBT/NT)
C WRITB(6,*) RMSEC U T RMSEC RMSEU RMSET
C  WRITB(6,*) NCNU NT NCNUNT,SSBC,SSEU SSET
RETURN
BND

SUBROUTINE NORMAL(RMEAN,VARRGN)
COMMON/SBED/IX,KKIX
¢ /ANTT/NMXNL,NCOMNCEN,TCNV
8D =SQRT(VARE)
PI =3.1415926
IF (KKIX .BQ.1) GOTO 100
RONE = RAND(IX)
RTWO = RAND(IX)
ZONB = SQRT(-2* ALOG{RONE))*COS(2*PTI*RTWO)
ZTWO = SQRT(-2* ALOG(RONE))*SIN(2*PI*RTWO)
GN =ZONB*SD+RMBAN
KKIX = {
GOTO 300
100 GN = ZTWO®SD+RMEBAN
KKIX = 0
300 RBTURN
" =D

c
SUBROUTINE LN(RMBAN,VARE,GX)
COMMON/SEED/IX, XKIX
* /INTT/NMNL,;NCOM,NCEN,TCNV
8D =S8SQRT(VARE)

P1 =3.1415926

I¥ (KKIX .BQ.1) GOTO 100
RONE = RAND(IX)



100

Q

Q

10

15
19
1

RTWO = RAND(IX)

ZONE = -2%ALOG(RONE))*COS{2*PI*RTWO)
ZTWO = BQRT(-2*ALOG(RONE))*SIN(2*PI*RTWO)
GN =ZONB*SD+RMBAN

EXIX = 1

GOTO 300

GN =~ ZTWOSD+RMEAN

KEIX = 0

GX=EXP(GN)

GLN=ALOG(GX)

RETURN

END

esccss  FUNCTION RANDOM ~ oesss

FUNCTION RANIXIX)

IX = IX¢16807

IF (IX.LT.0) IX = IX + 2147483647+1
RAND =IX

RAND =RAND*0.465661B-9
RETURN

END

SUBROUTINB PL(U,CNUNC,8)

DIMENSION U{(100),C(100),8(100),L(200),V(100)
DOUBLE PRECISION 8 PT
COMMON/INTY/NM NLNCOMNCEN,TCNV
| 1

KK =0

NT = NU4NC

IF (NC BQ. 0 ) GOTO 15

DO 10 I= 1, NU

IF(KK .BQ. NC) GOTO 1

DO 20 =X NC

Ki=J

IF(C() .GB. U(1)) GOTO 1

KK=KK+1 ‘

K=Ki

LMK

GOTO 11

DO 19 1=1,NU
L
CONTINUE
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c

WRITE(6,100) (L{1),J=1,NU)

C100 PORMAT(ZX,RANKS',10IS)

C COMPUTE P(T) POR ALL UNCENSORED BASED ON L{RANK)

30

Q

Vis0.
PT=1.0

XNT = NM

DO 12 =4 NU

XL-L()
PT=PTH((XNT-XLXNT-XL+1.))
SQ»-PT

IF ((XNT-X1) .OT. 0. ) GOTO 21
VV=g,

GOTO 25

CONTINUB
V1=V1+LAXNT-XLYSOINT-XL+1.0))
VV=S8QRT((PT**2)*V1)

essst  SUBROUTINE PP ooeee

SUBROUTINE PP(2Z,PZ)
R =BXP(-ZZZZ/2.)/2.5066282746
WW= 1,(1.+.33267° ABS(22))
P =1.- R¥(.4351836*WW-,1201676%(WW*2)
+.9372984(WW#43))
IF (2Z .GB.0.0) TREN
PZ=P
BLSB
PZ=1.-P
BNDIF
RETURN

SUBROUTINE SORT1(BENN)
DIMENSION BB(100),X(£00,5),Y(100)
COMMON/DIMU/X,Y

DO 1 I=1 NN
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J=NN4+

Byt

I¥ U7 LT. 1)GOTO 1
DO 2Ke13}

1F (BE(K) .LB. BE(J)) GOTO 2
Bi=ER(J)
X1=X(,1)
X2~X(3,2)
BE()=EB(K)
X0, 1)=X0K,1)
X(1,2)=X(K,2)
BE(K) =B1
X(K,1)pX1
X(K,2)=Xx2
CONTINUB
CONTINUE
RETURN

END

SUBROUTINE SORT2(BB.N,JR)
DIMENSION BE(100),IR(100)
DO 1I=1N

] =N

3 =71

IF (I LT. 1) GOTO 1

DO 2K=1,J

IF (BE(X) .LB. BE(J)) GOTO 2
B1=BE(})

IR1~IR(])

EE(T)=EE(K)

IR(R(K)

BE(K)-B1

IR(K)=IR1

CONTINUE

CONTINUE

RETURN

BND

SUBROUTINE TRANP(BM,ALFA 8 BK, AK,SK)
COMMON/INTT/NM,NL,NCOM,NCEN,TICNV
DIMENSION BM(5),BK(3,5),AK(3),8K(3)

DO 10 I=1 NV
BK(1,1)-BK(2)])
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BR(D=BK(3)
10 CONTINUB
AK(1)=AK(2)

AK(Z)=AK(3)

BK(1)=6K(2)
SK(2y-8K(3)

REBTURN

SUBROUTINE UNCEN(XNBW,YNBW,NMNEW)
DIMENSION X(100,5),Y(100),;NDELT A(100),Y1(100),
. XNBW(100,5),YNEW(100)
COMMON/INTT/NM,NL NCOMNCEN,TC NV
*  DPMUXY
* /DIM2YINDELTA
NMNEW =0
DO 851 =1NM
IF (NDELTA(Q) .EQ. 1) THEN
NMNEW = NMNEW-+1
DO 80) = 1NV
XNEW(NMNEW J) = X(NMNEWJ)
80 CONTINUB
YNEW(NMNEW )= Y(I)
ENDIF
8§ CONTINUE
RETURN
END
C %%+ SURROUTINE UN (DISCRRTE UNIFORM) oéese
SUBROUTINE UN(AAD,BBD,IEX)
COMMON/SBBDVIX KKIX
*  /NTT/NMNL)NCOMNCEN,TCNV
" U =RANDIO)
EX = AAD+ ((BBD-AAD+1)*U)
IBX =RBX
RETURN
END

SUBROUTINE UNIFO(AA,BB,EX)
COMMON/SEED/IX KKIX
YFL = RANIXIX)
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EX =((BB-AA*YFL}+ AA
RETURN
BEND

SUBROUTINS WHIBUL(ALPHA,BRTA, TWEI)
COMMON/SEED/IX,KKIX

10 YPFL = BAND(X)
IF ((YFL .BQ.1.0) .OR. (YFL .EQ.0.0)) GOTO 10
TWEI = BETA%(-ALOG(1.0-YFL))*(1.0/ALPHA)
RETURN
END

SUBROUTINE MBANV(IR, A1, XMSE12,VMSE12,XMSE11,VMSEL1,CV1)
IP(IR.NB.1) THEN
XMSEB12 = XMSB11 + (Af - XMSB1UIVR
VMBEB12 = (1.-1./IR-1)y*VMSB11 + IR%((XMSB12-XMSB11)#+2)
8V1 = BQRT(VMSE12)
IF(XMSEB12.8Q.0.) GOTO 2445
CV1 =8V1/XMSE12
2445 XMSE11 = XMSE12
VMSE11 = VMSB12
GOTO 2999
ENDIF
XMSE11 = Al
VMSB11 =0.
2999 RETURN
END
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